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I EED
1. RENEE 1,533,497 | 1,636,671 -103,174
HEESE 1,533,497 | 1,636,671 -103,174
2 EEEE 40,107,085 | 43,142,779 | -3,035,694
(1) EAREE 40,000,000 | 43,000,000 | -3,000,000
(2)ZTDtEEEE 107,085 142,779 -35,694
BEY 107,085 142,779 -35,694
BEAG 41,640,582 | 44,779,450 | -3,138,868

I &EDHE
1. REBAR 0 0 0
KihE 0 0 0
2. EEEE 0 0 0
Sli=h 0 0 0

I IERRBAEE D EB

1. 8 ERKEAE 40,000,000 | 43,000,000 | —-3,000,000
e 40,000,000 [ 43,000,000 | -3,000,000
OLEKRHEADIELEE) | 40,000,000 | 43,000,000 [ -3,000,000
OB EME~ADFLEE) 0 0 0
2. —fRIERRELE 1,640,582 | 1,779,450 | -138,868
OLERBME~DFLEE) 0 0 0
OLHEME~DT L) 0 0 0
IERRBAE ST 41,640,582 | 44,779,450 | -3,138,868
BERVEKRMEAST 41,640,582 | 44,779,450 | -3,138,868




